

On the multipliersystem of the Riemann-Dedekind function η

Citation for published version (APA):

van Lint, J. H. (1958). On the multipliersystem of the Riemann-Dedekind function η . *Proceedings of the Koninklijke Nederlandse Akademie van Wetenschappen: Series A: Mathematical Sciences*, 61(5), 522-527.

Document status and date:

Published: 01/01/1958

Document Version:

Publisher's PDF, also known as Version of Record (includes final page, issue and volume numbers)

Please check the document version of this publication:

- A submitted manuscript is the version of the article upon submission and before peer-review. There can be important differences between the submitted version and the official published version of record. People interested in the research are advised to contact the author for the final version of the publication, or visit the DOI to the publisher's website.
- The final author version and the galley proof are versions of the publication after peer review.
- The final published version features the final layout of the paper including the volume, issue and page numbers.

[Link to publication](#)

General rights

Copyright and moral rights for the publications made accessible in the public portal are retained by the authors and/or other copyright owners and it is a condition of accessing publications that users recognise and abide by the legal requirements associated with these rights.

- Users may download and print one copy of any publication from the public portal for the purpose of private study or research.
- You may not further distribute the material or use it for any profit-making activity or commercial gain
- You may freely distribute the URL identifying the publication in the public portal.

If the publication is distributed under the terms of Article 25fa of the Dutch Copyright Act, indicated by the "Taverne" license above, please follow below link for the End User Agreement:

www.tue.nl/taverne

Take down policy

If you believe that this document breaches copyright please contact us at:

openaccess@tue.nl

providing details and we will investigate your claim.

MATHEMATICS

ON THE MULTIPLIERSYSTEM OF THE RIEMANN-DEDEKIND
 FUNCTION η

BY

J. H. VAN LINT ¹⁾

(Communicated by Prof. H. FREUDENTHAL at the meeting of September 27, 1958)

1. *Introduction*

The function η defined by

$$\eta(\tau) = e^{\frac{\pi i \tau}{12}} \prod_{n=1}^{\infty} (1 - e^{2\pi i n \tau}) \text{ for } \text{Im } \tau > 0$$

satisfies the equations $\eta(\tau + 1) = e^{\frac{\pi i}{12}} \eta(\tau)$ and $\eta\left(-\frac{1}{\tau}\right) = \sqrt{-i\tau} \eta(\tau)$ and therefore η is a modular form $\in \{ \Gamma(1), -\frac{1}{2}, v \}$ with a certain multiplier system v determined by the above equalities. In [1] and [2] v was determined by RADEMACHER using Dedekind sums. In [3] PETERSSON gave a simple formula for v . We shall find the same formula without using Dedekind sums. To do this we first determine the characters of the group $\Gamma(1)$. (By characters we mean characters of the first degree.) This problem is reduced to a problem on finite groups by proving that $\Gamma(12)$ is contained in the commutator subgroup of $\Gamma(1)$.

We use the well-known notation:

$\Gamma(1)$ is the group of matrices $\begin{pmatrix} a & b \\ c & d \end{pmatrix}$ with rational integral elements and $ad - bc = 1$. We write $U = \begin{pmatrix} 1 & 1 \\ 0 & 1 \end{pmatrix}$ and $T = \begin{pmatrix} 0 & -1 \\ 1 & 0 \end{pmatrix}$ and denote $\begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix}$ by I .

$\Gamma(n)$ is the subgroup of $\Gamma(1)$ defined by $\begin{pmatrix} a & b \\ c & d \end{pmatrix} \equiv \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} \pmod{n}$.

$\Gamma_0(n)$ is the subgroup of $\Gamma(1)$ defined by $c \equiv 0 \pmod{n}$.

$\mathfrak{M}(n)$ is the factor group $\Gamma(1)/\Gamma(n)$.

A multiplier system v of $\{ \Gamma(1), -r, v \}$ is determined by $\lambda = v(U) = \zeta_6 \cdot e^{\frac{\pi i r}{6}}$ in which ζ_6 denotes a 6-th root of unity. We have $\mu = v(T) = \lambda^{-3}$.

2. *Theorems about v*

In [4] we proved that for every matrix $\begin{pmatrix} a & b \\ c & d \end{pmatrix}$ in $\Gamma(1)$ there is an integer $w \begin{pmatrix} a & b \\ c & d \end{pmatrix}$ independent of r so that $v \begin{pmatrix} a & b \\ c & d \end{pmatrix} = \lambda^{w \begin{pmatrix} a & b \\ c & d \end{pmatrix}}$.

If $f \in \{ \Gamma(1), -r, v \}$ and we define F by $F(\tau) = f(p\tau) f^{-r}(\tau)$, then $F \in \{ \Gamma_0(p), -r, v' \}$ with $v' \begin{pmatrix} a & b \\ cp & d \end{pmatrix} = v \begin{pmatrix} a & bp \\ c & d \end{pmatrix} v^{-r} \begin{pmatrix} a & b \\ cp & d \end{pmatrix} = \lambda^{w \begin{pmatrix} a & bp \\ c & d \end{pmatrix} - p \cdot w \begin{pmatrix} a & b \\ cp & d \end{pmatrix}}$.

¹⁾ The preparation of this paper was supported by the Netherlands Organisation for Pure Research (Z.W.O.).

For $f=\eta$, and p a prime larger than 3, Hecke proved

$$(2.1) \quad v' \left(\begin{array}{cc} a & b \\ cp & d \end{array} \right) = \left(\frac{d}{p} \right)$$

without using v . Here $\left(\frac{d}{p} \right)$ is the quadratic restsymbol (cf. [5]). If we replace v by v^3 , the result (2.1) also holds for $p=3$. We therefore have $w \left(\begin{array}{cc} a & bp \\ c & d \end{array} \right) - pw \left(\begin{array}{cc} a & b \\ cp & d \end{array} \right) \equiv 0 \pmod{12}$.

Now consider $\{\Gamma(1), -r, v\}$ where r is an integer. Then λ is a 12-th root of unity and we have:

$$(2.2) \quad v \left(\begin{array}{cc} a & bp \\ c & d \end{array} \right) = v^p \left(\begin{array}{cc} a & b \\ cp & d \end{array} \right) \text{ and } v^p \left(\begin{array}{cc} a & bp \\ c & d \end{array} \right) = v \left(\begin{array}{cc} a & b \\ cp & d \end{array} \right) \text{ for } p > 3.$$

If in this case $\left(\begin{array}{cc} a & b \\ c & d \end{array} \right) \in \Gamma(12)$ we have $\mu \cdot v \left(\begin{array}{cc} a & b \\ c & d \end{array} \right) = v \left(\begin{array}{cc} b & -a \\ d & -c \end{array} \right)$ and as $(d, 6) = 1$ we can apply (2.2):

$$\mu v \left(\begin{array}{cc} a & b \\ c & d \end{array} \right) = \begin{cases} v^d \left(\begin{array}{cc} b & -ad \\ 1 & -c \end{array} \right) = \mu^d = \mu & (d > 0), \\ v^{-d} \left(\begin{array}{cc} b & ad \\ -1 & -c \end{array} \right) = \mu^{-3d} = \mu & (d < 0). \end{cases}$$

We see that $v \left(\begin{array}{cc} a & b \\ c & d \end{array} \right) = 1$. If we take $r=0$ we have

Theorem 1. If v is a character of $\Gamma(1)$ then $v=1$ on $\Gamma(12)$. This means that the commutator subgroup of $\Gamma(1)$ contains $\Gamma(12)$. (The commutator subgroup is generated by $\begin{pmatrix} 1 & 1 \\ 1 & 2 \end{pmatrix}$ and $\begin{pmatrix} 2 & 1 \\ 1 & 1 \end{pmatrix}$.)

Before continuing we give an alternative proof of (2.2) which does not use the theory of modular forms used by HECKE for his proof of (2.1).

Proof of (2.2):

Consider a character v of $\Gamma(1)$. We have to prove that the characters φ_1 and φ_2 of $\Gamma_0(p)$ defined by

$$\varphi_1 \left(\begin{array}{cc} a & b \\ cp & d \end{array} \right) = v \left(\begin{array}{cc} a & bp \\ c & d \end{array} \right) \text{ and } \varphi_2 \left(\begin{array}{cc} a & b \\ cp & d \end{array} \right) = v^p \left(\begin{array}{cc} a & b \\ cp & d \end{array} \right)$$

are equal for all primes $p > 3$.

Let $p_1=2, p_2=3, p_3, \dots$ be the series of primes. Suppose the theorem is true for $3 < p < q = p_{n+1}$. We shall prove the theorem for q . It is sufficient to prove that $\varphi_1 = \varphi_2$ for a set of matrices generating $\Gamma_0(q)$.

The set of numbers $\pm p_3^{\alpha_3} p_4^{\alpha_4} \dots p_n^{\alpha_n}$ contains a set of representatives of the non-zero residue classes mod q . Call these d_1, d_2, \dots, d_{q-1} ($d_i = \varepsilon_i \delta_i$ with $\delta_i = |d_i|$). As a generating set of $\Gamma_0(q)$ we can choose

$$\begin{pmatrix} 1 & 1 \\ 0 & 1 \end{pmatrix} \text{ and } \begin{pmatrix} a_i & b_i \\ q & d_i \end{pmatrix} \quad (i, = 1, 2, \dots, q-1).$$

We have

$$v^a \begin{pmatrix} 1 & 1 \\ 0 & 1 \end{pmatrix} = v \begin{pmatrix} 1 & q \\ 0 & 1 \end{pmatrix}; \quad v \begin{pmatrix} a_i & b_i q \\ 1 & d_i \end{pmatrix} = \lambda^{a_i + d_i - 3}, \quad v \begin{pmatrix} a_i & b_i \\ q & d_i \end{pmatrix} = \lambda^3 v \begin{pmatrix} b_i & -a_i \\ d_i & -q \end{pmatrix}$$

and because the theorem holds for $3 < p < q$ we have

$$v \begin{pmatrix} a_i & b_i \\ q & d_i \end{pmatrix} = \lambda^3 v^{\delta_i} \begin{pmatrix} b_i & -a_i \delta_i \\ \varepsilon_i & -q \end{pmatrix} = \lambda^{3+d_i(b_i-a-3)}.$$

Now

$$\lambda^{(b_i d_i - a d_i - 3 d_i + 3) q - (a_i + d_i - 3)} = \lambda^{a_i d_i^2 - a_i - q^2 d_i - 2 d_i - 3 d_i q + 3 q + 3} = \lambda^{3(q+1)(1-d_i)} = 1$$

because $d_i^2 \equiv q^2 \equiv 1 \pmod{24}$ and $3(q+1)(1-d_i) \equiv 0 \pmod{12}$ and λ is a 12-th root of unity. Hence the characters are equal for the generators of $\Gamma_0(q)$.

To prove the theorem for all primes $p > 3$ we now only have to show that it holds for $p=5$, i.e. for the generators of $\Gamma_0(5)$. This is checked by a simple calculation.

That the analogous theorem holds for v^3 and $p=3$ is proved in the same way.

3. The characters of $\Gamma(1)$

By theorem 1 the characters of $\Gamma(1)$ are the characters of $\mathfrak{M}(12)$. As $\mathfrak{M}(12) = \mathfrak{M}(3) \times \mathfrak{M}(4)$ a character of $\mathfrak{M}(12)$ is the product of a character of $\mathfrak{M}(3)$ and a character of $\mathfrak{M}(4)$.

We first determine the characters of $\mathfrak{M}(3)$. These have been calculated by many different authors (a.o. [6], [7]). We wish to express them as functions of the elements a, b, c, d of the matrices of $\mathfrak{M}(3)$. The characters are equal to 1 on the commutator subgroup of $\mathfrak{M}(3)$. This subgroup has 8 elements. These are all the third powers of elements of $\mathfrak{M}(3)$. I, U and U^2 are the representatives of the classes of the factor group. If $\begin{pmatrix} a & b \\ c & d \end{pmatrix}$ is an element of the commutator subgroup we have

$$\begin{pmatrix} a & b \\ c & d \end{pmatrix} = \begin{pmatrix} \alpha & \beta \\ \gamma & \delta \end{pmatrix}^3 \equiv \begin{pmatrix} \alpha\delta(\delta-\alpha)-(a+\delta) & \beta(\alpha+\delta+1)(\alpha+\delta-1) \\ \gamma(\alpha+\delta+1)(\alpha+\delta-1) & -\alpha\delta(\delta-\alpha)-(a+\delta) \end{pmatrix}.$$

We see that the elements of the commutator subgroup are characterized by: $a+d \equiv 0 \pmod{3}$ or $b \equiv c \equiv 0 \pmod{3}$. We can write this as $(a+d)c + \rho b(c^2-1) \equiv 0 \pmod{3}$ where ρ will be chosen later.

Now let χ be a character of $\mathfrak{M}(3)$. Then $\chi(U) = \zeta$ is a third root of unity and we have $\chi \begin{pmatrix} a & b \\ c & d \end{pmatrix} = \zeta^n$ if $\begin{pmatrix} a & -nc & b & -nd \\ c & & d & \end{pmatrix}$ is in the commutator subgroup, i.e. if $(a+d)c + \rho b(c^2-1) \equiv n[c^2 + \rho d(c^2-1)] \pmod{3}$. If we choose $\rho = -d$ then $[c^2 + \rho d(c^2-1)] \equiv 1 \pmod{3}$ and hence the character can be written as

$$(3.1) \quad \chi \begin{pmatrix} a & b \\ c & d \end{pmatrix} = \zeta^{(a+d)c - bd(c^2-1)}.$$

We now determine the characters of $\mathfrak{M}(4)$ in the same way. This group has 48 elements; the commutator subgroup consists of the 12 fourth powers of the elements. These are

$$\begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix}, \begin{pmatrix} -1 & -2 \\ 0 & -1 \end{pmatrix}, \begin{pmatrix} -1 & 0 \\ -2 & -1 \end{pmatrix}, \begin{pmatrix} 1 & -2 \\ 2 & -3 \end{pmatrix}, \begin{pmatrix} 0 & 1 \\ -1 & -1 \end{pmatrix}, \begin{pmatrix} 0 & -1 \\ 1 & -1 \end{pmatrix}, \\ \begin{pmatrix} 1 & 1 \\ 1 & 2 \end{pmatrix}, \begin{pmatrix} 1 & -1 \\ -1 & 2 \end{pmatrix}, \begin{pmatrix} 2 & 1 \\ 1 & 1 \end{pmatrix}, \begin{pmatrix} 2 & -1 \\ -1 & 1 \end{pmatrix}, \begin{pmatrix} -1 & 1 \\ -1 & 0 \end{pmatrix}, \text{ and } \begin{pmatrix} -1 & -1 \\ 1 & 0 \end{pmatrix}.$$

As we see, the elements with $c \equiv 1 \pmod{2}$ are characterized by $a+d \equiv 3 \pmod{4}$. This enables us to use the same method we used for $\mathfrak{M}(3)$. We again consider the function $(a+d)c - bd(c^2 - 1) = f(a, b, c, d)$. By the above, the matrices with $c \equiv 1 \pmod{2}$ which are in the commutator subgroup of $\mathfrak{M}(4)$ are characterized by $f(a, b, c, d) \equiv 3c \pmod{4}$. By a simple calculation we see that for the fourth powers with $c \equiv 0 \pmod{2}$ we have $b \equiv c+d-1 \pmod{4}$. Hence $bd \equiv cd+1-d \pmod{4}$. If $c \equiv 0 \pmod{2}$ we have $(a+d)c - bd(c^2 - 1) \equiv bd \pmod{4}$. Therefore we have $f(a, b, c, d) \equiv 3d-3-3cd \pmod{4}$ if $c \equiv 0 \pmod{2}$ and $\begin{pmatrix} a & b \\ c & d \end{pmatrix}$ is in the commutator subgroup of $\mathfrak{M}(4)$.

We define

$$(3.2) \quad g(a, b, c, d) = \begin{cases} f(a, b, c, d) - 3c & \text{if } c \equiv 1 \pmod{2}, \\ f(a, b, c, d) + 3d - 3 - 3cd & \text{if } c \equiv 0 \pmod{2}. \end{cases}$$

If χ is a character of $\mathfrak{M}(4)$ and $\chi(U) = \zeta$ where ζ is a fourth root of unity, then $\chi \begin{pmatrix} a & b \\ c & d \end{pmatrix} = \zeta^n$ if $g(a-nc, b-nd, c, d) \equiv 0 \pmod{4}$. We can write this as $\chi \begin{pmatrix} a & b \\ c & d \end{pmatrix} = \zeta^{g(a,b,c,d)}$. In the formula (3.1) we can replace the exponent by $g(a, b, c, d)$ because multiples of 3 do not change the value of the power in that case. Therefore

$$(3.3) \quad \chi \begin{pmatrix} a & b \\ c & d \end{pmatrix} = \zeta^{g(a,b,c,d)}$$

is a uniform expression for the characters of $\mathfrak{M}(3)$ and $\mathfrak{M}(4)$.

We have proved

Theorem 2. If v is a character of $\mathfrak{M}(12)$, i.e. a character of $\Gamma(1)$, then $v(U) = \zeta$ is a twelfth root of unity and

$$v \begin{pmatrix} a & b \\ c & d \end{pmatrix} = \zeta^{g(a,b,c,d)},$$

where $g(a, b, c, d)$ is defined by (3.2).

Corollary: The commutator subgroup of $\Gamma(1)$ consists of the matrices $\begin{pmatrix} a & b \\ c & d \end{pmatrix}$ with $g(a, b, c, d) \equiv 0 \pmod{12}$.

4. The multiplier system v of the function η .

If v is the multiplier system of η then $v^2(U) = \lambda^2 = e^{\frac{\pi i}{6}}$ is a twelfth root of unity and hence v^2 is a character of $\Gamma(1)$. Therefore we have:

$$(4.1) \quad v \begin{pmatrix} a & b \\ c & d \end{pmatrix} = \varepsilon \begin{pmatrix} a & b \\ c & d \end{pmatrix} e^{\frac{\pi i}{12} g(a,b,c,d)},$$

where $\varepsilon \begin{pmatrix} a & b \\ c & d \end{pmatrix} = 1$ or -1 .

Now

$$v \begin{pmatrix} a+nc & b+nd \\ c & d \end{pmatrix} = \varepsilon \begin{pmatrix} a+nc & b+nd \\ c & d \end{pmatrix} e^{\frac{\pi i}{12} g(a,b,c,d)} e^{\frac{\pi i}{12} n} = v \begin{pmatrix} a & b \\ c & d \end{pmatrix} e^{\frac{\pi i}{12} n}$$

and hence ε only depends on c and d . We write $\varepsilon = \varepsilon(c, d)$. We define:

$$\begin{aligned} \left(\frac{c}{d}\right)^* &= \left(\frac{c}{|d|}\right) \text{ if } c \neq 0, \\ \left(\frac{c}{d}\right)_* &= \left(\frac{c}{|d|}\right) (-1)^{\frac{\text{sgn } c - 1}{2} \cdot \frac{\text{sgn } d - 1}{2}} \text{ if } c \neq 0, \\ \left(\frac{0}{\pm 1}\right)^* &= \left(\frac{0}{\pm 1}\right)_* = 1. \end{aligned}$$

Consider $p > 3$, $p \nmid d$ and $c \equiv 1 \pmod{2}$ and apply (2.1):

$$\begin{aligned} v \begin{pmatrix} a & b \\ cp & d \end{pmatrix} &= \varepsilon(cp, d) e^{\frac{\pi i}{12} g(a, b, cp, d)}, \\ v \begin{pmatrix} a & bp \\ c & d \end{pmatrix} &= \varepsilon(c, d) e^{\frac{\pi i}{12} g(a, bp, c, d)}. \end{aligned}$$

$g(a, bp, c, d) \equiv pg(a, b, cp, d) \pmod{24}$ because $p^2 \equiv 1 \pmod{24}$. By (2.1) we therefore have

$$\varepsilon(c, d) = \left(\frac{d}{p}\right) \varepsilon(cp, d) \quad \text{for } p > 3.$$

If we replace v by v^3 and use the fact that $\varepsilon^3 = \varepsilon$ we can prove the same result for $p = 3$.

By calculating the value of v for the matrices $\begin{pmatrix} 0 & \mp 1 \\ \pm 1 & d \end{pmatrix}$ we find $\varepsilon(\pm 1, d) = 1$. Therefore we have

$$(4.2) \quad \varepsilon(c, d) = \left(\frac{d}{c}\right)^* \quad \text{for } c \equiv 1 \pmod{2}.$$

For $c \equiv 0 \pmod{2}$ we find in the same way as above

$$\varepsilon(cp, d) = \left(\frac{p}{d}\right) \varepsilon(c, d) \quad \text{for } p \geq 3.$$

Using the results we have found, we can calculate the multiplier of $\begin{pmatrix} b & -a \\ d \mp 2^n & d \end{pmatrix} = \begin{pmatrix} a & b \\ \pm 2^n & d \end{pmatrix} \begin{pmatrix} 0 & -1 \\ 1 & 0 \end{pmatrix}$. In this way we find $\varepsilon(\pm 2^n, d)$. The result is

$$\varepsilon(\pm 2^n, d) = \left(\frac{\pm 2^n}{d}\right)_*.$$

We easily find $\varepsilon(0, \pm 1) = 1$. So we finally have:

$$(4.3) \quad \varepsilon(c, d) = \left(\frac{c}{d}\right)_* \quad \text{for } c \equiv 0 \pmod{2}.$$

Combining (4.1), (4.2) and (4.3) we get

Theorem 3. The multiplier system of η is given by

$$v \begin{pmatrix} a & b \\ c & d \end{pmatrix} = \begin{cases} \left(\frac{d}{c}\right)^* e^{\frac{\pi i}{12} \{(a+d)c - bd(c^2-1) - 3c\}} & \text{if } c \equiv 1 \pmod{2}, \\ \left(\frac{c}{d}\right)_* e^{\frac{\pi i}{12} \{(a+d)c - bd(c^2-1) + 3d - 3 - 3cd\}} & \text{if } c \equiv 0 \pmod{2}. \end{cases}$$

REFERENCES

1. RADEMACHER, H., Zur Theorie der Modulfunktionen, Journal f. d. reine u. ang. Math. Bd. 167 (1931).
2. ———, Bestimmung einer gewissen Einheitswurzel in der Theorie der Modulfunktionen, Journal Lond. Math. Soc. Vol. 7 (1932).
3. PETERSSON, H., Über Modulfunktionen und Partitionen probleme, Abh. d. Deutschen Ak. d. Wiss. Berlin, 2 (1954).
4. LINT, J. H. VAN, Hecke Operators and Euler products, thesis Utrecht 1957.
5. HECKE, E., Herleitung des Euler-Produktes der Zetafunktion und einiger L -Reihen aus ihrer Funktionalgleichung, Math. Ann. 119 (1943).
6. SCHUR, I., Untersuchungen über die Darstellungen der endlichen Gruppen durch gebrochene lineare Substitutionen, Journal f. d. reine u. ang. Math. Bd. 132 (1907).
7. KLOOSTERMAN, H. D., The behaviour of general thetafunctions under the modular group and the characters of binary modular congruence groups, Ann. of Math. 47 (1946).